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English 26 - 50

26.Answer Option A

When you are speaking of or for yourself,
use "am." When you are talking about a
person or a thing (in the singular), use "is."
When you are talking to a person, and
when you are talking about other people or
things (in the plural), use "are." Here, it is
singular as one is compared to the other.
Hence, is will be used.

27.Answer Option B

Besides means in addition to or apart from.
Beside means at the side of or next to.
Other two option i.e., across and both

doesn't make sense if put in the sentence.
The correct word will be Besides.
28.Answer Option A

He told me that he expects me to attend the
function.

29.Answer Option A

He enquired why I had not sent my
application to him.

30.Answer Option B

held over to delay something

31.Answer Option B

plough a lonely furrow follow a course of
action in which one is isolated or in which
one can act independently.

32.Answer Option C

put a spoke in my wheel prevent someone
from carrying out a plan.

33.Answer. Option C

The correct sentence is

The number of tourists 1s expected to

rise seven to ten percent in the next ten

_hyears.

34.Answer Option D

Sentence is correct.

35.Answer. Option A

Change; Being that'my car is getting — As
my car 1s getting.

36.Answer Option A

change, We can't hardly believe that the —
We can't believe that the

37.Answer Option B

Change, ends — end.

In future indefinite tense, the first form of
verb is used

38.Answer Option A

Adulation

39.Answer Option A

Adulterate

40.Answer Option B

Waste use or expend carelessly,
extravagantly, or to no purpose.

Support bear all or part of the weight of;
hold up.




Define state or describe exactly the nature,
scope, or meaning of.

Confine keep or restrict someone or
something within certain limits of (space,
scope, or time).

Brace a device fitted to something, in
particular a weak or injured part of the
body, to give support.

41.Answer Option B

Insult speak to or treat with disrespect or
scornful abuse.

Frustrate prevent (a plan or attempted
action) from progressing, succeeding, or
being fulfilled.

Defame damage the good reputation of
(someone); slander or libel.

Antagonise cause (someone) to become
hostile.

Baffle restrain or regulate (a fluidysound,
etc.).

42.Answer Option C

Agree to means to commit to (a course of
action, a proposal, etc.).

I don’t agree to your proposal.
43.Answer Option B

If there is "when" then the sentence will
start with "Hardly".

Hardly had it stopped rainingswhen we
started our journey.

44.Answer Option A

45.Answer Option D

She did not sing so well as her friend.

46. Answer Option D

They believe that the more good quality
nutrition goes into the body of the children,
the stronger the skeletal system becomes.
47. Answer Option A

By counting their teeth

48. Answer Option A

By counting the years, months and days
chronologically.

49.Answer Option A

Quebec was surrendered by the French to
the English in 1759.

50.Answer Option D

A house is being built by them next door to
our school.

Given sentence is in present continuous
tense and it is in active voice.

Rule

Subject + (is /am /are) + being + V3 +
Other agents.




Maths 51 -76

51.Answer Option C

Solution

Let the new S.P. be Rs. x

Then, 85 18700 =115 x
=x=((18700%115)/85)=>x=25300
52.Answer Option A

Solution

Let the new S.P. be Rs. x
Then,809=105x=x=(9x10580)=11.81
53.Answer Option A

Solution

Income of A and B

= 2 x 14000= Rs. 28000

Income of Band C

= 2 x 15600= Rs. 31200

Income of A and C

= 2 x 14400= Rs. 28800

Income of A, Band C
=(28000+31200+28800)2=(28000+31200+
28800)2

= Rs. 44000 C's income

= 44000 - 28000= Rs. 16000

54. Answer Option B

Solution

According to the gquestion,

Average of 25 observations = 13

Sum of 25 observations = 13 x 25 = 325
One observation entered wrongly 48
instead of 73.

=~ Difference = 73 - 48 = 25(less)

=~ Actual sum of 25 observation =325 + 25
=350

Actual average =350/25 = 14
55.Answer Option C

Solution

Sum of ages of 6 sons of a family=8x6= 48
Sum of ages of 6 sons and their parents = 8
x 22 =176

Parents's age = 176 - 48 = 128

Father's age - Mother's age = 8

X-y=8

X+y=128

X =68

y =60

~ Mother's age = 60 years
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56.Answer Option B




Solution
Letx =5k andy =7k

Then,
=X+y=36=5k+7k=236
= 12k = 36

=>k=3.x=5k=5%x3=15

57.Answer Option B

Solution

Let C gets x rupees.-.B gets x+8 rupees.~A
gets x+8+7 rupees Total
A+B+C=X+15+X+8+x=3x+23=3x+23=R
s. 53(given)=>3x=30=>x=10=>x=Rs.10-.Rat
10 of their shares

Is ABC = (x+15)(x+8)(x)=251810
58.Answer Option C

Solution

Let the speed of the fast train be x km/hr
Then, speed of the slow train = (x - 16)
km/hr
~192x-16—-192x=2=1x—16—1x=196=X2—
16x—1536=0=(x—48)(x+32)=0=>Xx=48km/
hr

59.Answer Option B

Solution

Distance covered by train A from 21 am to
2 pmi.e.,in 3 hours

= (60 % 3) km

=180 km

Relative speed

= (72 - 60) km/hr

=12 km/hr

Time taken to cover 180 km at relative
speed =

180/12

hrs

=15 hrs

So, the two trains will meet 15 hrs after 2
pm i.e., at 5 am on the next day.
60.Answer Option A

Solution

Let the daily wages of A, B and C be Rs.
5%, Rs. 6x and Rs. 4x respectively.

Then, ratio of their amounts
=(5x%6)(6x%4)(4x9)=302436=546..A's
amount=Rs.(1800x515)=Rs.600
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61.Answer Option D
Solution




Shortest method of doing this question is ,
Put in M1xT1xD1W1Put

in M1xT1xD1W1

= M2xT2xD2W2M2xT2xD2W2
Formula So, Let number of
burners—B6Bx6hoursx8days450=Bx10x5
625After solving —B=8

62.Answer Option B

Solution

12 men can do a piece of work in 24 days
=M1=12 and

D1=24=

M1=12 and D1=24

8 men can do this work in

D2D2 days

=>M2=8 M1D1=M2D2=12x24=8xD2=D
2=12x248=D2=36 days

63.Answer Option B

Solution

Let the number of parts before the quality.
checks be 100

Then, number of parts passed after quality
checks

= (100 - 2)% of (100 - 5)% of (100 - 10)%
of 100

= 98% of 95 of 90% of 100=
(98100%95100x90100%100)(98100%95100
x90100x100)=

(8379100)(8379100)

=83.79

- Effective rejection rate

= (100 - 83.79)%

=16.21%

64.Answer Option B

Solution

Let the present value be Rs. 100

Value after 3 years

=Rs. [100x(1-20100)3]

=Rs. (100x45x45%45)=Rs.

51.20=Rs. [100x(1-20100)3]

=Rs. (100x45x45%45)=Rs. 51.20

~ Reduction in value

= (100 - 51.20)%

= 48.8%
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65.Answer Option D

Solution




Principal = Rs 8000Amount = Rs 8820Let
Rate = RTime = 2 yearsBy using

formula, =8820=8000(1+R/100)2=88208
000=(1+R/100)/2=441400=(1+R/100)2Ta
king square root of both
sides,=2120=(1+R/100)=R=5%Principal
= Rs 8000Amount = Rs 8820Let Rate = R
Time = 2 years By using

formula, =8820=8000(1+R/100)2=88208
000=(1+R/100)2=441400=(1+R/100)2Tak
Ing square root of both
sides,=2120=(1+R/100)=R=5%
66.Answer Option D

Solution

Rate = 10%Time = 2 yearsEffective rate of
Cl for 2 years=10 + 10

+ 10x10100=21%Effective rate of Sl for.2
years = 2x10 = 20%Required

SI =42021%20 = Rs. 400

67.Answer Option A

Solution

According to the question,
AcidWaterVessel A43Vessel
B23AcidWaterVessel A43Vessel B23
Now using alligation,
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68.ANSWER 0
We know that cube of a negative number is negative
(mp=m3

Thus, the given expression can be written as a3+(-h)3+(-c)? - 3ahc

Tip:

a3 + b3+ c3-3abc = (atb+c) (a4+bHc?-ab-be-ca)
But,if a+b+c =0, then

a?+ b3 +c3-3abc=0

Inthis case, a=a=436 ;b=-b=-23%andc=-c=-197
Lath+e=436+(-239) +(-1.97) =0
~ad+bi+c-3abc=0

69.ANSWER 90

Explanation
Removing 18 scoops of mud and adding 12scoops means effectively only (18-12=)

6 scoops were removed.
Differencein initial and final amount of mud inthe pot=2/3 - 3/5=1/15
~.6scoops fill 1/15 the parts of pot

? scoops canfill 1 pot (entire pot)

6xl
«. 7=—7— =90 scoops of mud is the capacity of the pot.

15
70.Answer Option A
Solution
In a simultaneous throw of two dlce we
have n(S) =6 x6 =36
Let E = event of getting two numbers
whose sum is odd.
Then
E={(12), (1,4), (1,6), (2,3),(2.3), (2,5),
(3.2), (34), (3,6), (4.1), (4.3),(4.5): (5.2),
(5:4), (5,6), (6,1), (6,3), (6,5)}
therefore, n(E) = 18
And P(E) = p( getting two numbers whose
sum is odd)
P(E)=n(E)/n(S)=18/36=1/2P(E)=n(E)n(S)=
18/36=1/2

Hence the answer is
1/2

68. 33X 0
We know that cube of a negative number is negative
o (-m)3=-m?

Thus, the given expression can be written as a+(-b)+(-c)? - Jabc

Tip:

al + b3+ c3-3abc = (a+bic) (@bl -ab-bc-ca)
But,if a+b+c =10, then

a?+b3+c3-3abc=0

Inthiscase, a=a=436 ;b=-b=-23%andc=-c=-197
atbio=436+(-239) +(-197) =0
~ad+bi+ci-3ahe=0
69. 3<IX 90
YT
Removing 18 scoops of mud and adding 12scoops means effectively only (18-12=)
6 scoops were removed.
Differencein initial and final amount of mud inthe pot=2/3 - 3/5=1/15
« 6scoops fill 1/15 the parts of pot
? scoops canfill 1 pot (entire pot)

6xl
?:T = 90 scoops of mud is the capacity of the pot.

15
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71.Answer Option C




SolutionGiven that, 45% play football,
that is, P(F) = 45/100 = 9/20

30% play volleyball; that is, P(V) =
30/100 = 6/20

And, 15% play both volleyball and
football; that is, P(F And V)

=15/100 = 3/20

Now, we have to find the probability that 1
student plays football or volleyball;

That we have to find, P(F or V)

We know that, P(F Or V) = P(F) + P(V) -
P(F And V)= 9/20 + 6/20 - 3/20
=12/20=3/5

72.Answer Option C
Solution=AnuBimla=50006000=56 =Anu
Bimla=50006000=56

Anu's share for managing business
=12.5% of Rs.880=Rs.110Net
profit=Rs.(880—110)=Rs.770Anu's
share=Rs.(770x511)=Rs.350Anu's total
share=Rs.(110+350)=Rs.460Bimla’s
share=Rs.(770x611)=Rs.420

73.Answer Option A

Solution

Since, AABC and APQR are similar
triangles.then, «B = 2Q =83°

Thus, in AABC,4C = 180° - (A + £ B)
or, 2C =180°-(47° + 83°)=2C =50
74.Answer Option B

Solution

The sum of two sides of a triangle should
be greater than the third side. There are
only two possible pairs (2, 5, 6)and(3, 5, 6)
75.Answer Option A

Solution

Speed of boat in downstream = 15 km/hr
Speed of current = 3 km/hr

Speed of boat in still water = 12 km/h
Time taken at upstream
=1512—-3=15%hr=1hour40minutes=1512—3
=159hr=1hour40minutes

Time taken at downstream
=1512+3=1515hr=1hour=1512+3=1515hr
=1hour

=~ Total time = 2 hours 40 minutes
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SCIENCE 76 - 100

76.Answer A

The colour of visible light depends on its
wavelength. These wavelengths range from
700 nm at the red end of the spectrum to
400 nm at the violet end. Visible light
waves are the only electromagnetic waves
Wwe can see.

77.Answer C

The maximum number of electrons in the
shell with principle quantum number n is
equal to 2n"2 .

78.Answer C

The stigma receives pollen at pollination
and it is on the stigma that the pollen grain
germinates. The style connects the stigma
to the ovary.

79.Answer C

Priestley is credited with his independent
discovery of oxygen by the thermal
decomposition of mercuric oxide, having
isolated it in 1774.

80.Answer A _
Xenon noble gas is used as an anesthetic
agent in the medical field. Nobel gases are
located in the 18th group of the modern
periodic table.
81.Answer A

Gunmetal is an alloy of Cu, Sn, and Zn. The
composition of these metals are-. 88%
copper, 8-10% tin, and 2-4% zinc.
82.Answer A

Microphone is a device which transforms
the. sound signal into current signal; current
signal into sound signal; sound signal into
light signal
83.Answer A

Two ice cubes, when pressed with each
other forms one block due to the hydrogen
bond formation. The electrostatic force of
attraction between the positively charged
hydrogen atom of one molecule with the
negatively charged oxygen atom of another
molecule forms H-bond which holds the
two cubes together.
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84.Answer A

The working principle of solar cells is
based on the photovoltaic effect. The
photovoltaic effect is the production of
electricity by a material when it is exposed
to the light.

85.Answer D

Autonomic nervous system (ANS)
includes a pair of chains of ganglia and
nerves which control the involuntary
actions of many internal organs (smooth
muscles, heart muscles, and glands).
86.Answer A

Surface tension

87.Answer B

Adipose tissue is the primarily fat storing
tissue. Bones and Cartilage are skeletal
connective tissue which provides support
to the vertebrate body.

88.Answer C

The elements following uranium on the
periodic table are only produced
artificially, and are known as

the transuranium or transuranic elements.
89.Answer D

Carbon dioxide is one of the many
greenhouse gases whose presence in the
atmosphere in excess leads to the
greenhouse effect.

90.Answer A

Paper.

91.Answer D

The Red Data Book contains data of
Endangered / Threatened species.
92.Answer B

Acid rain results when sulfur dioxide (SO,)
and nitrogen oxides (NOx) are emitted into
the atmosphere and transported by wind
and air currents. The SO, and NOx react
with water, oxygen and other chemicals to
form sulfuric and nitric acids. These then
mix with water and other materials before
falling to the ground.

93.Answer D,The mixture of alcohol and
water can be separated by employing the
technique of fractional distillation
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94.Answer D

The creation of the ballpoint pen is usually
credited to a Hungarian-Argentinian
inventor Laszl6 Bird, whose name inspired
a catch-all term for modern ballpoints. But
it 1s, in fact, a lot older. An American, John
J Loud, received the first patent for a
ballpoint pen back in 1888.

95.Answer B

Most mathematicians are aware of the
logarithm tables of John Napier, the
definition of the logarithm function by
Johannes Kepler, and its modern version
by Leonard Euler. But there is so much
more to the invention of logarithms that
have marked a revolution in physics, in
particular astrophysics, in the 17th century.
96.Answer C

Blaise Pascal was a very influential French
mathematician and philosopher who
contributed to many areas of mathematics.
97.Answer B ,
agadish Chandra Bose proved that plants
are like any other life form. He proved that
plants have a definite life cycle

98.Answer D

On March 7, 1876, 29-year-old Alexander
Graham Bell receives a patent for his
revolutionary new invention the telephone.
99.Answer A

In 1676, the Danish astronomer Ole
Roemer (1644-1710) became the first
person to measure the speed of light.
100.Answer B

Between 1866 and 1867, Sir Thomas
Clifford Allbutt (1836—1925) designed a
medical thermometer that was much more
portable, measuring only six inches long
and taking only five minutes to record a
patient's temperature.
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101.Answer Option B

In Word 2003 and earlier, the default top
and bottom margins were 1 inch (25.4
mm), but 1.25 inches (31.7 mm) were
given at the left and the right.

The default margins for Microsoft Word
from version 2007 onward have been 1
inch (25.4 mm) all around.

102.Answer Option C

Format menu is used to change typeface of
a document.

103.Answer Option D

A superscript is a character, symbol or
number set slightly above the normal line
of text. It is always smaller than the usual
font and is typically found in mathematical
or scientific formulas. it is effects to the
font.

Font ? X
Font Advanced
Font: Font style: Size:
+Body Regular 11
~| EEUEEEN | e A
+Headings ttalic 9
Abadi Bold 10
Abadi Extra Light Bold Italic
Agency FB ¥ 12 2
Fant color: Underline style: Underline color:
Automatic ~ | (none) o Automatic v
Effects
D Strikethrough D Small caps
D Double strikethrough D All caps
Superscript (] idden
D Subscript
Preview
Calibri

This is the body theme font. The current document theme defines which font will be used.

Set As Default Text Effects...

104.Answer Option B

The maximum font-size available

in Microsoft Word 2010 from the
dropdown list is 72; however the font
size can be set up to 1638 by typing
the size manually for the font
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To make the columns in a table
automatically fit the contents, click on our
table. On the Layout tab, in the Cell Size
group, click AutoFit, and then click
AutoFit Contents. or double click the right
border of column

106.Answer Option B

The soroban also known as Abacus, is an
abacus developed in Japan. It is derived
from the ancient Chinese suanpan,
imported to Japan in the 14" century.
107.Answer Option C

In telecommunications, computing, and
information architecture, a data bank or
databank is a repository of information on
one or more subjects — a database — that is
organized in a way that facilitates local or
remote information retrieval and is able to
processes a large number of continual
queries over a long period.

108.Answer Option C

The disadvantage of-dynamic RAM over
static RAM.is needed to refresh the
capacitor charge every once in two
milliseconds.

109.Answer Option C

The true concerning personal computers
the electronic spreadsheet has been a
primary reason for their popularity. A
personal computer may be a desktop
computer or a laptop, netbook; tablet.or a
handheld PC. Early computer owners
usually had to write their own programs to
do anything useful with the machines,
which even did not include an operating
system.

110.Answer Option A

First generation machines are characterized
by electronic tube circuitry, delay line;
rotating or electrostatic memory. The
ENIAC (Electronic Numerical Integrator
and Computer) was the direct forefather of
the modern computer because the problems
associated with its operation led to the
development of the latter.

105. IR fdded o1

difetT § Bictd warferd I & AHUT Br
fihe B @ fory, R arferdt R faetd
PN | RTIC < W, Al ATHR T8 H,
3iferfhe W fddd &) 3R R sifeifthe
At R e o |

106. IR fddey o1

AR, 5 ddd @ A | |1 ST
SITaT &, STaE § fasRid Ue e B |
Ig 14 df AT H S H ST fhu
T AT A GIMIA A U Bl 2 |
107 3R fadweq <

ST §6 IT STHd TH IT UHh A 3Mfd
faua R SHeR BT YR & — UB
SCII¥ = Sl 39 ¥ I JaRerd BIdl ©
il RITI1I IT SRl T st a1
Jidem <ar & iR g1\ # Fand
P H AeH BT T |

108,8%IX [dded <l

L fier T B Y R B g ReR

H UR RIS XA B RIS ©
&R 3l Al oS H TP ar |

10935 fdped it

BT BRI & g H I gelagi I
WSEIc SADI ATDBIICl T UTAffes BRI
&1 & | U ey She HeR AT
luety, Heqd, Cdoic AT denes URM &
AHAT & | YOI BRI AlfcTd] Bl
JIMAR TR AT & A1 BB |l IYARMT
PR B (oY 37U W & YA o
gsd o, FoTH Uap SifurfeT Rved +f
Mot &1 o |

110. SR fdded T

el I o1 7 B RARvdT seaeie
=E |idhed], faed Y@, goi= ar
goldgRC(cd HARI | FOL[e (Selagid
JHR®B SN TS HICR) YD
PSR BT I Ydol AT Rilfds gD

&1 fdar ga |




111.Answer Option A

Laser disks LaserDisc (abbreviated as
LD) is a home video format and the first
commercial optical disc storage medium,
initially licensed, sold and marketed as
MCA DiscoVision in the United States in
1978. Although the format was capable of
offering higher-quality video and audio
than its consumer rivals.

112.Answer Option D

Writing tablet A graphic tablet (also
known as a digitizer, drawing tablet,
drawing pad, writing tablet, digital drawing
tablet, pen tablet, or digital art board) is a
computer input device that enables a user
to hand-draw images, animations and
graphics, with a special pen-like stylus,
similar to the way a person draws images
with a pencil and paper. These tablets may
also be used to capture data or handwritten
signatures. It can also be used‘to trace an
Image from a piece.of paper whieh is taped
or otherwise secured to the tablet surface.
Capturing data in this way, by tracing or
entering the corners of linear poly-lines or
shapes, is.called digitizing.

113.Answer Option A

Magnetic card A magnetic stripe card is a
type of card capable of storing data by
modifying the magnetism of tiny‘tron-
based magnetic particles’on.aband of
magnetic material on the card. The
magnetic stripe, sometimes called swipe
card or

magstripe, is read by swiping past a
magnetic reading head

114.Answer Option B

Transaction Application Language or TAL
(originally "Tandem Application
Language") is a block-structured,
procedural language optimized for use on
Tandem hardware. TAL resembles a cross
between C and Pascal. It was the original
system programming language for the
Tandem CISC machines, which had no
assembler.
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115.Answer Option C

Compliers and interpreters are programs
that help convert the high level language
(Source Code) into machine codes to be
understood by the computers. Compiler
scans the entire program and translates the
whole of it into machine code at once. An
interpreter takes very less time to analyze
the source code

116.Answer Option B

The Internet Assistant for Excel is an add-
in wizard that allows you to create and
distribute Excel documents online for
viewing with any popular browser. The
Internet Assistant helps you convert your
spreadsheet data to HTML format.
117.Answer Option C

A circular reference occurs when a formula
directly or indirectly refers to its own cell.
This causes the formula to use its result'in
the calculation, which can create errors.
118.Answer Option:D

Goal seek, Secenario Manager and Solver
are used to perform what if analysis in
Excel.

119.Answer Option B

When we insert an excel file into a word
document and keep the source file linkage
when data is updated in source file update
data in liked file also. The dataare Linked:
In Embedded objects file'become part.of
document and does not get updated when
source file is updated.

120.Answer Option A

Solver is used to find an optimal
(maximum or minimum) value for a
formula in one cell — called the objective
cell — subject to constraints, or limits, on
the values of other formula cells on a
worksheet. Solver works with a group of
cells, called decision variables or simply
variable cells that are used in computing
the formulas in the objective and
constraint cells. variable cells

as "‘changing cells™ or ""adjustable
cells™.
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121.Answer Option A
122.Answer Option C
123.Answer Option B
124.Answer Option D
125.Answer Option D
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REASONING 126 — 150

126.Answer Option B

Nothing about the present method of
admission or the qualification of the
Chairman is mentioned in the statement.
So, neither I nor 111 is implicit. Assumption
Il directly follows from the statement. So,
I1'is implicit

127.Answer Option D

Any advertisement highlights only the
desirable qualities of the product. So, I is
implicit. The "X' brand has advertised its
product in newspaper A. This implies that
a large section of people reads
advertisements in newspapers and that
newspaper A too has a wide circulation.
So, neither 11 nor 111 is implicit.
128.Answer Option C

Since the State Government has increased
the octroi, so | is implicit. Since the
decision has been taken without the
approval of the Central Government, it
implies that Central Government would not
confront the new policy. So, Il is implicit.
Since octroi Is collected by the'state on all
commodities entering the state, so 111 is
also implicit.

129.Answer Option A

conclusion I follows.

130.Answer Option D

conclusion 111 follows.

131.Answer Option B

either conclusion | or Il or 111 follows.
132.Answer Option A

all conclusion follows.

133.Answer Option A

None follows

134.Answer Option C

Each of the first four letters in the word is
moved one step backward, while each of
the last five letters is moved one step
forward to obtain the corresponding letter
of the code.
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135.Answer Option D

Each letter in the word is moved thirteen
steps forward to obtain the corresponding
letter of the code.

136.Answer Option D

Each letter in the given message is moved
two steps backward to obtain the
corresponding letter of the code.

The last letter of the third word in the
given sentence is Y, which shall be coded
as W.

137.Answer Option A

The word is first written twice and the
letters at the even positions in the word so
obtained, form the code.

138.Answer Option C

Total number of trees,

=7+14-1

=20

139.Answer Option A

Let, A =XxThen, B = 2x

and, F = 4xC = x/2

and D = x/4

Thus, The second oldest is B.
140.Answer Option'A

Only child of Naman's grandmother-----
Naman's father/mother

Daughter of Naman's father/mother-----
Naman's sister.

141.Answer Option B

Since the narrator has nobrother, his
father's son is he himself. So, the man who
is talking is the father of the man in the
photograph. Thus, the man in the
photograph is his son.

142.Answer Option C
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143.Answer Option C

9 km
C > D
6 km A 6 km
A—3—lp E
5 km

Required Distance
= AE
=5+9
=14 km

144.Answer Option C

Given the information presented, the only
statement that could be considered true is
that the fruit should not be eaten because it
IS poisonous. There is no support that taxol
IS poisonous or that

taxol has cured anyone (choices a and h).
There is no support for choice d.
145.Answer Option C

Since Erin's parents think a dog.would not
be happy in an apartmentywe can
reasonably conclude that the family lives
in an apartment. \We do not know if Erin's
parents dislike dogs (choice a) or. if Erin
dislikes birds (choice'b).There is no
support for choice d.

146.Answer Option B

The pattern is,

aabbccaabbccaabbcc.

The pattern aabbcc is repeated.
147.Answer Option A

The series is,

abcbcacababcbca.

The letters are changing their place in a
cycling order.

148. Answer (d) 81

Explanation In the given series there is an
increment of the consecutive multiples of 5,
I.e., +5, then +10, then +15, and so on. So,
6+5=11

11+10=21

21 +15=36

36 + 20 =56, and

56 +25=281

So, the next number in the series will be 81.
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149.Answer (d) 81

Explanation In the given series there is a
square of the consecutive odd integers i.e.,
32,52, 72, and so on.

12=1

3?2=9

52=25

7?2 =49

92=81

112=121

So, the number that comes in place of the
question mark is 81.

150.Answer (c) 3508

Explanation In the given series the logic is

(8x3)+4=28
(28x4)+4 =116
(116 x5) + 4 =584
(584 x 6) + 4 = 3508
So, the next number in the series i ‘

__ g
&P

7
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GENERAL KNOWLEDGE 151 - 175

151.Answer Option C

Grey Revolution is associated with Wool. It
Is to increase the production of wool. it is
post of green revolution. Green revolution
Is associated with the greenery and post of
this, Grey revolution came

152.Answer Option B

Kirti Chakra was known as Ashok Chakra,
Class Il before 1967. The Kirti Chakra is an
Indian military decoration awarded for
valour, courageous action or self-sacrifice
away from the field of battle. It may be
awarded to civilians as well as military
personnel, including posthumous awards. It
Is the peacetime equivalent of the Maha Vir
Chakra.

153.Answer Option A

The Narmada and the Tapti are majorrivers
that drain into the Arabian Sea. The
Narmada originatesin eastern Madhya
Pradesh (India) and flows west across the
state, through a narrow valley between the
Vindhya Range and'spurs of the Satpura
Range. It flows into.the Gulf of Khambhat.
154. Answer Option A

Coconut crop is regarded as asplantation
crop. The coconut tree (Cocos nucifera) is a
member of the palm tree family (Arecaceae)
and the only living species of the genus
Cocos. The term "coconut” (or the archaic
"cocoanut™) can refer to the whole coconut
palm, the seed, or the fruit, which
botanically is a drupe, not a nut.
155.Answer Option D

Core forms the major part of the total
volume of earth. The innermost layer,
forming the metallic centre of the Earth.
Core of the Earth is like a dense magnetic
ball of minerals (Iron & Nickel). Hence, it
Is also called NIFE (NI — Nickel & Fe —
Ferrous Magnesium i.e Iron). Temperature
increases at the rate of 1° Celsius for every
32 meters of depth.
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156.Answer Option A

Due to gravity, acceleration at the Equator
Is less than acceleration on poles. It is
because the equatorial distance is more than
the polar distance and this is because of the
shape of Earth as we know that the earth is
a sphere so the the polar radius is less as
compared to equatorial radius.

157.Answer Option A

We know India lies in the Northern
Hemisphere as it lies above the Equator.
The shortest day in the Northern
Hemisphere is on December 22nd, when the
Sun is directly overhead the tropic of
Capricorn.

158.Answer Option B

The oath of office is conducted to the
president by the chief justice of India.
159.Answer Option C

The members of the state legislative
assemblies are elected for.a*“period of 5
years.

160.Answer Option D

Nanabhoy Palkhivala is also known as
"Nani Palkhivala". He was an Indian Jurist
and Economist. Some of “his™ famous
creation are - "Our Constitution Defaced
and Defiled", "The Law and Practice of
Income Tax in 2 Vols ", "We, The People
India, the largest Democracy.
161.Answer Option C

The office of the prime minister of India is
created by the constitution

162.Answer Option D

'‘Man - The Maker of His Own Destiny'
book was written by Swami Vivekanand.
163.Answer Option C

In calm air the air temperature is -100 C, if
the wind speed should increase to 30 knots
(with no change in air temperature) the
thermometer would indicate a temperature
of -10° C.

164.Answer Option C

Banabhatta was the court poet of king
Harshavardhana. His biography
Harshacharita ("Deeds of Harsha") written
by Sanskrit poet Banabhatta,
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165.Answer Option D

The presidency of the United Nations
Security Council rotates on a monthly basis
alphabetically among all of the members
based on their English name.

166.Answer Option A

Dr. Manmohan Singh is the first Indian
delegation that attended the first World
Conference. The whole conference was on
Human Rights.

167.Answer Option C

The United Nations is headquartered in
New York City in a complex designed by a
board of architects led by Wallace Harrison
and built by the architectural firm Harrison
& Abramovitz.

168.Answer Option A

The last month of the Saka year is Phalguna.
Phagun is the twelfth and last month of'the
Nanakshahi calendar, which _geverns
activities within Sikhismg#This month
coincides with Phalguna in _the Hindu
calendar and the Indian National calendar,
and February and March of the Gregorian
and Julian calendars and is"30 or.31 days
long.

169.Answer Option B

The odd name of the popping crease refers
to the early history of the game of crieket,
when batsmen used to have.te*pop' their
bats into a small hole that'was located.in the
middle of the crease for a run to count. For
a player to run a batsman out, he had to pop
the ball into the hole before the bat was
grounded in it.

170.Answer Option D

Limba Ram is known for his outstanding
performance in Archery.

171.Answer Option B

Kapil Dev has been declared the "Cricketer
of the Twentieth Century" by the ICC.
172.Answer Option C

The Ryder Cup is a biennial men's golf
competition between teams from Europe
and the United States. The competition is
contested every two years
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173. Answer B [6.3 %]

As per provisional estimates released by
National Statistical Office (NSO), India’s
gross domestic product (GDP) for the July-
September quarter (Q2) of the financial year
2022-23 slowed to 6.3 per cent.
The GDP saw a growth of 13.5 per cent in
the preceding April-June quarter of 2022-
23. It was cut down mainly by the poor
performance of manufacturing and mining
sectors.

174. Answer D [November 30]

“The Day of Remembrance for all Victims
of Chemical Warfare’ is commemorated on
November 30 every year.
This day was adopted by the United Nations
to remember the victims of chemical
warfare. It aims to encourage efforts for
eliminating the use of chemical weapons
and remember those who have _suffered
because of such warfare.

175. Answer A [Turkey and Ukraine]

The United Nations, Turkey and Ukraine
agreed to implement a Black Sea grain deal
despite Russia’s withdrawal from" the
agreement.

Black Sea grain Initiative was launched by
Russia, Turkey, Ukraine, and the United
Nations in July 2022 to enablessthe
resumption of exports from«UKraine  of
grains, food products and fertilizer through
a humanitarian corridor from Ukrainian
ports in the Black Sea.
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GENERAL MANAGEMENT 176 — 200

176. Answer - A ;3 levels

There are 3 levels in the ranking order of an
establishment and they are Top-level
management. Middle-level management.
Lower-level management.
177.ANSWER-A

Innovation = management  involves the
process of managing an organization's
innovation procedure, starting at the initial
stage of ideation, to its final stage of
successful implementation. It encompasses
the decisions, activities and practices of
devising and implementing an innovation
strategy.

178. ANSWER-A

In accounting, a standard costing system is
a tool for planning budgets, managing and
controlling costs, and evaluating cost
management performance.

179. ANSWER-C ,
Management.~“(or managing) = 18 the
administration of an organization, whether
it is a business, a nonprofit organization, or
a government body. It is the art'and science
of managing resources of the business.

180. ANSWER-C

Art refers to personal and skillful
application of existing knowledge to
achieve desired results. It can be acquired
through continuous practice, creativity,
personal observation and experience.

181. ANSWER-A

Organisation helps in optimum utilisation
of financial and human resources. It not
only aids in the proper assignment of jobs to
suitable employees but also keeps track that
there is no waste of resources and efforts
due to duplication of work.

182. ANSWER-A

Thus we can say that “Organization is a
group of people who are co-operating under
the direction of Ileadership for the
accomplishment of common end” .
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183. ANSWER-A

Budget periods are usually 12 months long
but may be shorter or longer, if appropriate.
Sometimes referred to as the Budget Year.
184. ANSWER-A

Controlling is one of the important
functions of a manager. In order to seek
planned results from the subordinates, a
manager needs to exercise effective control
over the activities of the subordinates.

185. ANSWER-B

This theory discusses how to divide up
professional tasks in the most efficient and
effective way. Classical theorists pay
particular attention to the professional
dynamics and relationships within an
organization and how these relationships
may impact the company's function and
production.

186. ANSWER-B

James Culliton

187. ANSWER-D

PUBLIC SECTOR INSTITUTION

188. ANSWER-A

Public Company

189. ANSWER-D

20 February 1957

190.ANSWER- B

Scientific management requires a high level
of managerial control over employee work
practices and entails a higher ratio of
managerial workers to laborers than
previous management methods.

191. ANSWER-A

Privately held company

192. ANSWER-D

Consumer Court is a special purpose court
in India. It primarily deals with consumer-
related disputes, conflicts, and grievances.
The court holds hearings to adjudicate these
disputes.

193. ANSWER-A

Scientific management is a theory of
management that analyzes and synthesizes
workflows. Its main objective is improving
economic efficiency, especially labor
productivity.
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194. ANSWER-B

Excess Capital

195. ANSWER-A

Frederick Winslow Taylor; Efficiency
expert. Management consultant - Father of
scientific management, efficiency
movement and industrial engineering

196. ANSWER-B

Henry Fayol, also known as the 'father of
modern management theory' gave a new
perception of the concept of management.
He introduced a general theory that can be
applied to all levels of management and
every department.

197. ANSWER-B

Control has two basic purposes namely
(1) to facilitate coordination, and (ii) to help
in planning. A good control system provides
timely information to the management
which is very much useful for.taking
various actions for the efficient’ operation of

the organizational processes.
198. ANSWER-C

Customer satisfaction. Customer
satisfaction is the focal point of marketing
management.

199. ANSWER-B

One of the most common metrics for capital
investment analysis is the net present value
(NPV) model, which determines how much
the expected revenue from a project—called
future cash flows—are worth in today's
dollars.

200. ANSWER-D

Inerest is the price you pay to borrow
money. When a lender provides a loan, they
make a profit off of the interest paid on top
of the original loan amount. Interest rates
affect the true amount you pay for homes,
cars and other purchases made with credit.
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